Dial Indicating Gauge Accuracy/Standard Dial Configuration

Applies to:
100 Series Gauges: 4" 300 Series Gauges: 2-1/2" 400/500 Series Gauges: 2-1/2" 900 Series Gauges: 2-1/2"
ACCURACY: £1.6% full scale
Primary Scale Secondary Scales
Dial Range Figure | Graduation kPa Figure Graduation kglcm? Figure Graduation bar Figure Graduation
30(;':)2'? L inHg | -0.5inHg '108 Il((PP: 0 -20 kPa -2 kPa tlooozif&écr';f -0.2 kglem? -0.02 kglem? '10b§£rt° -0.2 bar -0.02 bar
-30inHgto | -10inHg -linHg -100 kPa to -50 kPa -5 kPa -1 kglcm? to -0.5 kg/cm? -0.05kglcm? | -lbarto | -0.5bar -0.05 bar
15 psi 5 psi 0.5 psi 100 kPa 50 kPa 5 kPa 1.05 kglcm? 0.5 kg/cm? 0.05 kg/cm? 1 bar 0.5 bar 0.05 bar
-30inHgto | -30inHg -2inHg -100 kPa to -100 kPa -10 kPa -1 kglcm? to -1 kglcm? -0.1 kglcm? -1 bar to -1 bar -0.1 bar
30 psi 10 psi 1 psi 205 kPa 100 kPa 10 kPa 2.10 kg/cm? 1kg/em? 0.1 kg/cm? 2 bar 1 bar 0.1 bar
-30inHgto | -30inHg -5inHg -100 kPa to -100 kPa -20 kPa -1 kglcm? to -1 kglcm? -2 kglcm? -1 bar to -1 bar -0.2 bar
60 psi 20 psi 2psi 400 kPa 200 kPa 20 kPa 4.2 kglcm? 2 kglcm? 0.2 kglcm? 4 bar 2 bar 0.2 bar
-30inHgto | -30inHg -5inHg -100 kPa to -100 kPa -20 kPa -1 kglcm? to -1 kglem? -0.2 kg/cm? -1 bar to -1 bar -0.2 bar
100 psi 20 psi 2 psi 680 kPa 200 kPa 20 kPa 7 kglcm? 2 kglcm? 0.2 kg/cm? 6.8 bar 2 bar 0.2 bar
-30inHgto | -30inHg -10inHg -100 kPa to -100 kPa -50 kPa -1 kglem?to -1 kglem? -0.5 kglem? -1 bar to -1 bar -0.5 bar
160 psi 40 psi 4psi 1,080 kPa 400 kPa 40 kPa 11.2 kg/em? 4 kglcm? 0.4 kglcm? 11 bar 4 bar 0.4 bar
-30inHgto | -30inHg -10inHg -100 kPa to -100 kPa -50 kPa -1 kglcm? to -1 kglem? -0.5 kg/lcm? -1 bar to -1 bar -0.5 bar
200 psi 40 psi 4 psi 1,360 kPa 400 kPa 40 kPa 14 kg/cm? 4 kglem? 0.4 kglcm? 13.6 bar 4 bar 0.4 bar
-30inHgto | -30inHg | -10inHg -100 kPa to -100 kPa -50 kPa -1 kglem? to -1 kglcm? -0.5 kglcm? -1 bar to -1 bar -0.5 bar
300 psi 50 psi 5 psi 2,050 kPa 500 kPa 50 kPa 21 kglem? 5 kglcm? 0.5 kg/cm? 20.5 bar 5 bar 0.5 bar
Olgsplstio 3psi 0.2 psi %(ZP Eptg 30 kPa 2 kPa fggfg};ﬁ% 0.3 kglcm? 0.02 kglcm? 883{; 0.3 bar 0.02 bar
Oggsrjst? 5 psi 05 psi Oppato 50 kPa 5 kPa 02"19@',2;29 05kgiem® | 005kgiemt | B0 | ospar | 005 bar
0 psito ! : OkPato 0kglcm? to 0 bar to
60 psi 10 psi 1psi 410 kPa 100 kPa 10 kPa 4.2 kglem? 1 kglem? 0.1 kg/lcm? 410 bar 1bar 0.1 bar
0 psito : ; OkPato 0kglcm?to 0 bar to
100 psi 20 psi 2psi 680 kPa 200 kPa 20 kPa 7kglem? 2 kglem? 0.2 kglcm? 6.8 bar 2 bar 0.2 bar
0 psito . ; 0kPato 0 kglcm? to 0 bar to
160 psi 40 psi 4psi 1,080 kPa 400 kPa 40 kPa 112 kglem? 4 kglem? 0.4 kglcm? 11 bar 4 bar 0.4 bar
0 psito : : 0 kPato 0 kglem? to 0 bar to
200 psi 40 psi 4psi 1,360 kPa 400 kPa 40 kPa 14kglem? 4 kglcm? 0.4 kglcm? 13.6 bar 4 bar 0.4 bar
0 psito ; ; OkPato 0 kglcm?to 0 bar to
300 psi 50 psi 5psi 2.050 kPa 500 kPa 50 kPa 21 kglem? 5 kglcm? 0.5 kglcm? 20,5 bar 5 bar 0.5 bar
%’()S'pts(: 100psi | 10psi pKrato | 1000kPa | 100kPa Oz'ggk’gm? 10 kglem? Lkgiemt | O30 | g0 ar 1bar
gé’os'pt; 100 psi 10 psi 401%%1%’& 1,000 kPa 100 kPa 04594573220 10 kg/cm? 1kglem? 04liabr;;) 10 bar 1 bar
1?0%53 ;‘;I 200psi | 20psi 6%'5%1% 2000kPa | 200kPa 07'39(;?;;? 20 kglem? 2kgiemt | G210 | 20 par 2 bar
1?5%%‘ ;tf;. 300psi | 20psi lgggglﬁga 3000kPa | 200kPa %fl’fg’}‘éng‘z 30 kglem? 2kgiemt | 9P| 30 par 2 bar
2%%% ;‘; 400psi | 4opsi 1%53153&1 4000kPa | 400kPa | O 4"(?{59'}‘:”2? 40 kglem? dkgie | 988r0 1 40 ar 4bar
3?0%%i ;t)(; 500psi | 50psi Zg'gggﬁga 5000kPa | 500kPa glkgfgr}‘;;? 50 kglcm? skgiem® | S50 | 50 bar 5 bar
5%%% ;‘;I 1,000psi | 100psi 3%53&‘;,& 10000kPa | 1,000 kPa g;(g{fg'}‘;gg 100 kglem? wkglem | 99810 | 100bar 10 bar
e(,)o%%i é‘;l 1000psi | 100 psi 4%531?5&1 10000kPa | 1,000kPa gz"gfg'}‘;ﬁi 100 kglem? 10kglemt | 9RO 100 par 10 bar
7%%? ;‘;I 1500psi | 100 psi Sfé‘ggliga 10,000kPa | 1,000kPa gzkgfg'}‘ér}g 100 kglem? wkglom? | 80| 100 bar 10 bar
0 psito . ; OkPato 0kglcm?to 0 bar to
10,000 psi 2,000 psi 200 psi 68,000 kPa 20,000 kPa | 2,000 kPa 700 kgfem? 200 kg/cm? 20 kglcm? 680 bar 200 bar 20 bar
0 psito : . 0kPato 0 kglcm? to 0 bar to
15,000 psi 3,000 psi 200 psi 102,000 kPa 30,000kPa | 2,000 kPa 1,040 kglem? 300 kg/cm? 20 kglcm? 1,020 bar 300 bar 20 bar
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